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Vegetation is affected by the pH (0-14, neutral is 7) most plants like neutral range. grass likes the basic range. conifers like the lower pH range. when needles fall it causes the pH to be lower.
Roots go through respiration.
Respiration products are carbon dioxide and water.
CO2 + H2O = H2CO3 (carbonic acid) (ph around 5.5) helps to dissolve minerals in the soil
Climate and Time
	in PA we have a humid climate, we get between 34-50” of precipitation per year.
	water slowly breaks down the soils into smaller particles
	A Horizon – also known as topsoil, also known as “zone of leeching”
	alkaline (basic) ions are picked up
	as water goes through it is going to pick up calcium, magnesium and potassium ions, as these leech out the soil becomes more acidic
	B Horizon – subsoil, aka “zone of accumulation”
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